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9 Designate the corners of a square, J6n a ¥de, in clockwise oruer,
. Determine the value of the line tegral

f B, from point C oing 4. (No actual integration peeded!) What the
numerical answer if ¢ = 107°C and [ = 5cm 7 [2.5]




PAt charges\2g at A and —3
of E, from poigt C to poipt’D. (No actual integra
' 07%C and | = 5cm 7
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9. Desiénate the corners of a sgifare, I on agide, in clockwise order,
Pit charges %g at A and 3¢ at B. Deterwine the vpdue of the line\ntegy

f E, from point C to pdint D. (No actual integrafion needed!) What 15 the

numerical answerif g< 107°C and [ = 5cm 7 [2.5]
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PHY102 : Quiz

less than and greater than R 7 [2.5]
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